SplashLearn

Multi-Step Word Problems

Circle the correct sequence of steps for the multi-step word problems.

Tyra bought 120 scooby strings. Her mother gifted her 16 more strings. She makex
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STEP 1- Addition

|

STEP 2- Division

keychains using these strings. Each keychain requires 4 strings. How many
keychains can she make?

STEP 1- Multiplication

|

STEP 2-

Addition
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Zoe has 36 food items. He makes food packets with 3 food items in each packet. He
gives 4 food packets to each to his 2 friends. How many food packets is he left with?
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STEP 1- Division

STEP 2- Multiplication

STEP 3- Subtraction
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/




